
SAP ABAP table VTXI10 {Transfer Structure for forex entry}

VTXI10

BUKRS [CHAR (4)]

SFHAART [CHAR (3)]

SGSART [CHAR (3)]

WLWAERS [CUKY (5)]

WFWAERS [CUKY (5)]

S1BEWART [CHAR (4)]

W1WAERS [CUKY (5)]

R1UBANK [CHAR (5)]

R1UKONT [CHAR (5)]

S2BEWART [CHAR (4)]

W2WAERS [CUKY (5)]

R2UBANK [CHAR (5)]

R2UKONT [CHAR (5)]

AT10

MANDT [CLNT (3)]

SGSART [CHAR (3)]

SFHAART [CHAR (3)]

 VTXI10-SFHAART = AT10-SFHAART 
0..N

0..N

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 VTXI10-BUKRS = T001-BUKRS 
0..N

0..N

T012

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

HBKID [CHAR (5)]

 VTXI10-R1UBANK = T012-HBKID 

0..N

0..N

 VTXI10-R2UBANK = T012-HBKID 0..N

0..N

T012K

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

HBKID [CHAR (5)]

HKTID [CHAR (5)]

 VTXI10-R1UKONT = T012K-HKTID 

0..N0..N  VTXI10-R2UKONT = T012K-HKTID 
0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 VTXI10-W1WAERS = TCURC-WAERS 

0..N

0..N

 VTXI10-W2WAERS = TCURC-WAERS 

0..N

0..N

 VTXI10-WFWAERS = TCURC-WAERS 
0..N

0..N

 VTXI10-WLWAERS = TCURC-WAERS 0..N0..N

TZB0A

MANDT [CLNT (3)]

RANTYP [CHAR (1)]

SBEWART [CHAR (4)]

 VTXI10-S1BEWART = TZB0A-SBEWART 

0..N

0..N

 VTXI10-S2BEWART = TZB0A-SBEWART 0..N

0..N

TZPA

MANDT [CLNT (3)]

GSART [CHAR (3)]

 VTXI10-SGSART = TZPA-GSART 

0..N

0..N


